Potencias de 10 (H)

4.2449 =1

6.7146 +0.001

2.1908 +-0.001

4.6881 0.1

4.6441 = 1000

8.5427 =100

7.3641 +-0.01

4.2442 - 10

7.3079 +0.001

1.5338 +1

Calcule los siguientes cocientes.

1.8497 +-0.01

9.6774 100

7.7601 =100

3.1069 =10

6.0656 =10

2.1927 = 1000

7.3554 = 1000

2.9354 = 1000

7.1948 =1

4.5225+0.01
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Potencias de 10 (H) Respuestas

4.2449 = 1
4.2449
6.7146 = 0.001
6,714.6

2.1908 = 0.001
2,190.8

4.6881 0.1
46.881
4.6441 = 1000
0.0046441
8.5427 = 100
0.085427
7.3641 +0.01
736.41
4.2442 =10
0.42442
7.3079 = 0.001
7,307.9

1.5338+1
1.5338

Calcule los siguientes cocientes.

1.8497+0.01
184.97
9.6774 100
0.096774

7.7601 =100
0.077601
3.1069 =10
0.31069
6.0656 + 10
0.60656
2.1927 <1000
0.0021927
7.3554 1000
0.0073554
2.9354 1000
0.0029354
7.1948 -1
7.1948
4.5225+0.01
452.25
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